
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

1 

KTM4-PKN 
KTM 390 Duke_2013-2017 

 
Mounting instruction: 

 
 

Mounting kit left side:    Mounting kit right side: 

 

Right side: 

 

  Put on washer, dural. cylinder and crash protector on the bolt M10. 

  Mount tis kit on swingarm. 

Left side: 

 Put on washer, dural. cylinder and crash protector on the bolt M10. 

  Mount tis kit on swingarm. 

 

The threaded bolts, use glue on the threads 

(medium-strength blue). 

 

 

Note. Description Cat.No Quant 

1 Duralumin cylinder 1112 1 

2 Bolt M10x55x1,25 915 1 

3 Washer M10 804 1 

4 Crash protector 10,5/ 

X45/2,5 

1 

Note. Description Cat.No Quant 

1 Duralumin cylinder 1112 1 

2 Bolt M10x55x1,25 915 1 

3 Washer M10 804 1 

4 Crash protector 10,5/ 

X45/2,5 

1 


